FORMULE TRIGONOMETRICHE

cos(x-y) = cos(x) cos(y) + sen(x) sen(y)
cos(x+y) = cos(x) cos(y) — sen(x) sen(y)
sen(x+y) = sen(x) cos(y) + cos(x) sen(y)
sen(x-y) = sen(x) cos(y) — cos(x)sen(y)

_1gx)+1g(y)

sen(2x) = 2sen(x)cos(x)
cos(2x) = cos?(x)-sen?(x)

cos(2x) = 1- 2sen?(x)
cos(2x) = 2cos?(x)-1
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sorf= 1—cos(2x) e (= 1+ cos(2x) _

2sen2(§) =1-cos(2x) 2cosz(§) =1+cos(2x) K

cos’(x) = sen’(x) = r’ sen(x) cos(x) = A t=tg(x)
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Formule di Prostaferesi

sen(x)+sen(y) = ZSen(x ; yjcos(x;y] sen(x)—sen(y) = 2005[ 3

cos(x)+cos(y) = 2cos(x ; y)cos[x;yj cos(x)—cos(y) = ——2sen(x;y

X =

sen(x)sen(y) = %(cos(x -y)- cés(x + y))

sen(x) cos(y) = %(sen(x + y)+sen(x — y))

cos(x)cos(y) = -;—(cos(x + y)+cos(x— y))
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e” =cos(x) +isen(x) e™™ = cos(x) —isen(x)
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